
t I I[ lllt ^.- .^ K21U 3486.' -- l.-
Beg. No. : .................................. ._'/.,'''t
Name:.......................................'', 

-- 
.'

ll semester B.sc. Desr;e(CF-eqFjObE-Reg./sup.ilmp.)
Examination, April 2021

(2019 admission Onwards)
COMPLEIMENTAFY ELECTIVE COUBSE IN STATISTICS

2C02STA (G & P) : Slatistical l\Ielhods

Tme:3 Hours Max [larks:40

lnstruction: Use al calculalorc and statsticaltables arc pemiftecl.

PAFT A
(short Answer)

Answerall6 questons (6x1-6)

1 The cofielation belween two varables is 2ero. How w you nlerprelit?

2 Whal arc lhe demerits of scatler diagram ?

3 Give any lwo lses ol index numbers.

4 How willyo! choose lhe base period wh e consirlcting index numbers t
5 Whal do yoL mean by cyc calvadalon n a I me se es ?

6 Whal do yor mean by vita stalstics ?

PAFT B

{short Essay)

Answer any 6 queslons.

7 What do you mean by a blvarate data t G ve an example

8. Why there are lwo regression ines ?

9 Prbve llrat coreation coefiicent isthe geomelrc mean ol rcgresson

(6:2=12)
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l0 Howwi yo! constructthe werghled index numbers ? Whal are ils merts ?

11 Deiine a time series and give two examples.

1 2 W th su tab e examp es expla n seasonal vaial on n . I m.,6 seri-as

13. Descrbe any lwo measures of moda ty.

14. Expla n the p!.pose and proced!re ol slandardizi.g birlh and dealh rates

PART C
(Essay)

Answer any 4 qlesl ons (ax3=12)

15. Whal is elfect oJ cha.ge ol scae on co(elalon coeflcienl ?

16. Wrile a shorl nole on rank coreialion

17. The rcgrcsslon lines are x + y- 32 = 0 and 4x + y- 52= 0 Oblain the correlation
coetlicient and va ues ol means oi lhe vaiab es.

i 8. Exp ain the pr ncip e of leasl sqlrares and write down lhe normal equations ior
fin ng a straghl ne y = ax + b.

19 What do you mean by cosl ol iving index number ? What are its uses ?

20 Explain the mov ng average melhod ior ihe measur ng trend oi a lime ser es

PAFI D

{Lons Essay)

Answerany 2 questions (2x5-10)

21 l lwo varables are independenl, lhen cotrelatior coellicenl is z€ro. s llre
converse lrue ? Explain by means ol an exampe

22. By Lrsing the to owing data lind oul the lwo lines oi regresson. :x = 250.
:y = 3oo :xy = 7900, :x'? = 6500 :y2 = roooo, n = ro

23. Expla n iaclor reversaland time reversaltesls Check wlrether Fsheas ndex
nlmber obey both lhe lesls

24. Write sholr notes on general fertilily rale. tola led lily ra1e, qross rcprod lction
rate and net reproduciion rate


